Monohybrid Crosses (single trait crosses) 

1. In mice, brown hair is dominant over white. Cross a heterozygous brown-haired male with a white-haired female. 

2. Both a man and a woman are heterozygous for freckles. Freckles are dominant over no freckles. What are the chances that their children will have freckles? 

3. Cystic fibrosis is regulated by a recessive allele. If a man and woman are both normal but are carrying the gene for cystic fibrosis, what are the chances that they will have a child with the disease? 

4. John cannot curl his tongue (recessive) but both his parents can curl their tongues. He has a sister who can also curl her tongue. Give the genotypes of all individuals involved. 

5. Albinism, a total lack of pigment, is caused by a recessive allele (a). An albino woman whose father is albino and whose mother is normal marries a normal man, whose mother is normal and whose father is albino. Her husband has an albino sister. This couple has a normal daughter. What are the genotypes of all people mentioned? 

6. Both you and your sister have attached earlobes, yet your parents have unattached (or free) earlobes. Unattached earlobes are dominant over attached. What are the genotypes of your parents?

7. In watermelons, the gene for green colour is dominant over the gene for striped colour. Suppose a plant that is striped is crossed with a plant that is green. If half the offspring are green and half are striped, what does this tell you about the parents?

8. In humans, brown eyes are dominant over blue eyes. A woman with blue eyes marries a man with brown eyes. This man's father had blue eyes. [a] What would be the genotype of the man that married the blue-eyed woman? [b] What would be the genotype of the blue-eyed woman? [c] What will be the ratio of children with blue eyes from this marriage?   
